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3HQHOLWLDQ� LQL� GLODNXNDQ� XQWXN� PHQHOLWL� WLQJNDW� NHSDWXKDQ� ZDMLE� SDMDN�
GDODP� PHPED\DU� 3DMDN� .HQGDUDDQ� %HUPRWRU� GL� .RWD� 3DGDQJ� GHQJDQ�
PHPEDQGLQJNDQ� DQWDUD� WDUJHW� XQLW� NHQGDUDDQ� EHUPRWRU� GHQJDQ� UHDOLVDVL� XQLW�
NHQGDUDQ� EHUPRWRU� \DQJ� WHODK� GLWHWDSNDQ�� 3HQHOLWLDQ� LQL� GLODNXNDQ� SDGD� 6LVWHP�
$GPLQLVWUDVL�0DQXQJJDO�6DWX�$WDS��6$06$7� .RWD�3DGDQJ�\DQJ�PHQMDGL�VHQWUDO�
LQIRUPDVL� 3DMDN�.HQGDUDDQ�%HUPRWRU� GDQ� XQLW NHQGDUDDQ� EHUPRWRU \DQJ� WHUGDIWDU�
GDUL�WDKXQ�����������

3HQHOLWLDQ�LQL PHQJJXQDNDQ�PHWRGH�GHVNULSWLI�� GDWD�\DQJ�GLJXQDNDQ�DGDODK�
GDWD� SULPHU \DQJ� GLSHUROHK� GDUL� 6$06$7� .RWD� 3DGDQJ� \DLWX GDWD� WDUJHW� GDQ�
UHDOLVDVL�XQLW�NHQGDUDDQ�EHUPRWRU�GL�NRWD�SDGDQJ�SDGD�WDKXQ������������

%HUGDVDUNDQ�SHQJRODKDQ�GDWD�\DQJ�GLODNXNDQ��PDND�GLSHUROHK�KDVLO�WLQJNDW�
NHSDWXKDQ� ZDMLE� SDMDN� GDODP� PHPED\DU� 3DMDN� .HQGDUDDQ� %HUPRWRU SDGD� WDKXQ�
����� VDQJDW� SDWXK� GHQJDQ� SHUVHQWDVH� ��������� WDKXQ� ����� VDQJDW� SDWXK� GHQJDQ�
SHUVHQWDVH� ��������� WDKXQ� ����� VDQJDW� SDWXK� GHQJDQ� SHUVHQWDVH� ��������� WDKXQ�
����� SDWXK� GHQJDQ� SHUVHQWDVH� �������� WDKXQ� ����� SDWXK� GHQJDQ� SHUVHQWDVH�
��������%HUGDVDUNDQ�KDVLO� SHUVHQWDVH�NHSDWXKDQ�GLDWDV�GDSDW�GL� VLPSXONDQ�EDKZD�
XQLW�\DQJ�PHPED\DU�SDMDN�NHQGDUDDQ�EHUPRWRU�GL�NDWHJRULNDQ�SDWXK�
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